(RN
<
-

a(6 @) (rad)
a(d cot(B))

B o : 107

107° ; {1 -

- I3 i 107E:
c>,|()L—_3;:....I....I..'..!..N..I....!.... o10f32:' | |
= E 1 [+ i = E 0 k
T 1.1 3 Bl - T 1.1 14 & :
o E N 3 @ E : : b ¥ b

1E il L [ R T ER TR HT R

E 4 F o 8 8 b 3

0.9F HHHH E ¥ 0.9F-- |

E | i : E i | ;

0.8E i A : AL 0.8t i A i A
=3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—— DQMUTIITat_Ste; ttar-pirase-rewgeomT

—e— D M:mf( it_sTe, asel new eom

—— Bovfhgie 52 1 f’"rﬁ SeEniwgsom "

—— DOM™p e‘rgPE nerlcpstepz ttbargpﬁasel-newgeom

e -

aoa, ) (cm)
o(dd,) (cm)

[any
S

Ratio
Ratio

o
T T T

|
w
|
N
=
'_\.
o
[N

1 2 3 L 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[ RaRaRARERERRR
| T — —
N 3
|
i
o

Ratio
o

W

1 2 3
TP n (PCA to beamline)

0.5



	Contents
	Page 1


